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ECONOMICS
Paper : ECO-HC-2016

( Introductory Macroeconomics )

( Honours Core )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer any ten from the following questions :
1x10=10

©old PIRIR R @ Wbk Tag faar -

fa) Who was the first economist to have
coined the term ‘macroeconomics’?

FafEa WS’ RG! (T wLRfeim
A2rs s 2

(b} What is meant by depreciation cost?

IR 336 Ifeies B | w2
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(2)

(c) Distinguish between intermediate goods
and final goods.

TGI8 AT WF pOIB ANIR TS N Ay
01

(d) Give one example of transfer payment.

TIEA AReny Qb1 Twrzad |

(e} Define gross domestic product.

T3 T TR ige fau |

(/) What is velocity of circulation of money?

TG oot faperer f& 2

(g9 What is money supply?
YU’ oA ¥ 2

(h) How does credit creation affect money
supply?
T4 SRE R @M 8[RS @A ASR
Coeq ? '

() What is liquidity preference?
O orew &2

() Define ‘open market operations’ as a
tool of monetary policy.

a1 M =fEen RFowest Yo Im3 afFm’s s
fram o
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(3)

(k) Distinguish between demand-pull
inflation and cost-push inflation.

o e EPRIe WF ISAS [urdifed
s 12y Ay 411

() Which country is facing ‘hyperinflation’
recently?

Ao TS @FE (01 s [Ureiie’3
ST 2= ?

(m) Mention Say’s law of market.

5’3 IR R Seagy 491 1

(n) State one essential condition of
Keynesian income determination.

PR 9N ARR ST 56 «b Sy
A

(o) In which case is LM curve horizontal?

& CPqS LM QRCE Spie 202

2. Answer any five from the following

questions : 2x5=10

©orq AR [ (FTeA +brR Te] o

(a) Distinguish between real GDP and
nominal GDP.

oFe Yo THFA AN WF AN F6 Tl
T &S N1 A 347 |
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(b) Mention two types of transactions that
are included in the current account of
balance of payment.

ARCME FToR e e wgse @ gy
CACTIR o1 SCEY 391 |

(c) What do price indices show?

7R e & a2

(d) Distinguish between net domestic
product and net national product.

W% I TAH HEF 0T A3 SATR TS
N=fF [Aefa 3211

(e) Write any two functions of money.

e R e o1 9 ferwn

() Whatis speculative demand for money?

TUR TS Wise & 2

(g) Define inflationary gap.

Tarfifed #194 sieEm faan o

(h) What is money multiplier formula?

91 BT Saqce! 52
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(S)

3. Answer any four from the following
questions : S5x4=20

e #NaRd R el vifioR Te’ -

(a) Distinguish between  balance  of
payment and balance of trade with
example.

TR TS AReNR el Wi e
TSR WSS N 47 341 |

(b) Distinguish between current and capital
accounts of balance of payments.

R HoR sfere o s @« RorrrR
e N A 4 1

() How would you measure gross national
expenditure? State the limitations of
this method.

T QW W @FEWA P S IR @R
TR NNRFOPT{R Sy 41 |

(d) Discuss the modern approach to money
supply.
WA @R CFae SR YRE SCeTsI
41|

(e) Explain the three motives for demand
for money according to Keynes.

@FPR o R tiwR fFe wfsam
340
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(/ What is liquidity trap? Explain its
significance on monetary policy.

e ¥ {7 g7 WSS TR gFF A0 I} |

(g) Explain the causes for the shift of the IS
and LM curves.

IS |F LM R [O FARRS (TR FRTIYR
0 40

(h) What is fiscal multiplier? What factors
affect fiscal multiplier?

IEEFRY B 27 I QTFF AONRIRS

T SemTgR & 2
4. Answer any four from the following
questions : ' 10x4=40
Terd 2P R @1 vifRbR Tea o -

(a) Explain the various basic issues studied
in macroeconomics.

Rse WLASS S T4 7o Rz arm
0

(b) Discuss the process of national income
accounting in an open economy.

TS SRS B T SR AfFACOT e
30|
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(7))

(c) Explain the process of circular flow of
income. In what ways do international
transactions affect this flow within a
closed economy? 7+3=10

R S oIz AfFUChT WA 91 %
FYANES WESSF TMH-oH (% ORI
@A ASRIES F¢I 2

(d) Critically explain the cash transaction
approach to the quantity theory of
" money.

TR AR v@ Am Ry e
FARCATOAIAFOICR T 3] |

(e) Compare and contrast between cash
transaction and cash balance approach
to the quantity theory of money. Which
one is superior? Give reasons. 7+3=10

TR “RTT OG1 A7 Bes A% @TH-0
oM A YRV Tl A WF Ny Ay 471
R @01 e ? I oy |

(/ Explain the various tools of monetary
policy. Which one is appropriate to the
developing countries? Give reasons. 8+2=10

@ N RiSw wfRermz Imm 3311 @
R SRgNe (rR IR BT ? IR
vt |
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(8)

(g) Define inflation. Explain social costs of

inflation. 3+7=10
s @ i qErdtes e
9 AT <491

(h) Evaluate the Keynesian model of income
determination.

@R Y 4R SR e 1 |

(i Compare the classical and Keynesian

| models of income determination and
point out the fundamental differences
between the two.

sKEfre we @A W R Wi o
WWWWW@W’HW
sgferm fea |

(j) Derive IS and LM curves. Explain their
properties. 6+4=10

IS oF LM (F41 TOIT SR3T 41 | 3799 49572
[ A

* % %
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